Complete the Square Practice Monday Sept 21, 2015

Steps for Solving by Completing the Square method

[a—

. Arrange terms in standard form : ax*>+bx+c=0

. “@” value MUST be equal to 1, so divide each term by the GCF to make a =1
. Move constant to the other side of the equation and add spaces to each side

W N

x* + bx + =c+

2
4. Find (%) and enter this value into the blank spaces  on both sides of the equation

5. Rewrite left side in factored form and add the numbers on the right side
6. take the / of both sides (don’t forget +)

7. solve for x

Solve the quadratic equations below using complete the square method:

1. x*-8x-16=3 2. 4x2-16x-27=1

3. 2x*-8x =32 4. 5x*—-30x-5




1.  Arrange terms in standard form : ax*+bx+c=0
2. “a” value MUST be equal to 1, so divide each term by the GCF to make a= 1
3. Move constant to the other side of the equation and add spaces to each side

§x2+bx+_____=c+ £

2

4. Find (g) and-enter this value into the blank spaces ___on both sides of the equation
5. Rewrite left side in factored form and add the numbeis-on the right side

6. take the \/’ of both sides (don’t forget ¥ )

7. solve for x

5. 4x*-24x-3=1 6. 6x*—12x—-41=1

7. x¥*—4x-12=2 8. 3x2—-36x—-7=-1
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Steps for Solving by Completing the Square method

. Arrange terms in standard form : ax>+bx+c=0

2. “a” value MUST be equal to 1, so divide each term by the GCF to make a = 1
3. Move constant to the other 51de of the equation and add spaces to eag,h side

x+bx+ “c+

2
4. Find (g) and enter this value intothe-blank spaces __ on both sides of the equation

5. Rewrite left side in factored form and add the numbers on the right side
6. take the J of both sides (don’t forget +)

7. solve for x

Solve the quadratic equations below using complete the square method: [f_x’i. / 6 y .:[ 5/ _
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1.  Arrange terms in standard form : ax*+bx+c=0
2. “a” value MUST be equal to 1, so divide each term by the GCF to make a =1
3. Move constant to the other side of the equation and add spaces to each side

fxX*+bx+__ =c+ ||

2
4. Find (E) and enter this value into the blank spaces ___on both sides of the equation

5.-Rewrite left side in factored form and add the numbers on the right side

6. take the \/— of both sides (don’t forget &)

7. solve forx
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